=R
zura0-12s zn HITOP

1. ABBRERZEEN, EERRIPERBRERETEPRTE
liZ 20l

2. MFERNABISIREEN, BRUSARE S THEMBEREEN, it
BiEERRRES R MR,

3. UIEESEES .

4. [TZIEBRTAERENR. HEREXRNR. BB, PEF. B
BRAEBEEHEROIRIZ,

AL2LE

ZHF 40 N — 02
RaME® M BE0R
N | THB&R | IARRER

30 @30
40 @40
50 @50

60 @60
80 @80
100 | @100
125 | @125

E: © MREENENR 60A o

TTER 246

UBREER: @50mm; REAMRNTREERR: BEO0RNARY G3/8 HHBRTRA.
E#ITEE3: ZHF50N - 03

UBREER: @100mm; REMRNTREER: BE0RNIMRY G1/4 NHBRERE.
IEFBITWAE: ZHF 100N - G02

o ERIER
BRI HMRN
IROKS
IROUE G1/4 G3/8 G1/4 M10X1.5
30 () ([} o ([ J
40 L) (] ® o
50 () ® ® ()
gg 60 ° ° ° °
80 [ ) ([ J (] [ J
100 ) (] ® [
125 o ([} ( [

WWW.HITOP-PMA.COM 26.01 E

VACUUM PRODUCTS




EZ=TH

VACUUM PRODUCTS

iR R
ZHF 30 - 125 &3l

AR

(cm?®)

ITHRINREEF

(mm)

BEEEEN

KEEZED

HEREKFEEND

-60kPa

30 1.6 35 45 35 33
40 35 47.5 72 54 51
50 7.5 70 112 90 86
60 12.6 81 145 102 93
80 35 115 288 212 190
100 60 141 445 322 308
125 115 165 660 475 400
=@ smms rE

SMERYT (mm)

° RIRE

100 100 9.2 22
G3/8 36 15
G1/4 57

125 125 11 12.5 22
G3/8 43

E o65.02 WWW.HITOP-PMA.COM



=R
ZHF 30 - 125 &3l

HpZ R~ (mm)

* SMRUEY

=W

VACUUM PRODUCTS

G1/4
30 30 20 12 27 17
M10X1.5
G1/4
40 40 22 12 3.7 17
M10X1.5
G1/4
50 50 28 12 4.7 22
M10X1.5
G1/4
60 60 31 12 6 22
M10X1.5
G1/4
80 80 34 12 7.5 22
M10X1.5
G1/4
100 100 36 12 ©.2 22
M10X1.5
G1/4
125 125 43 12 12,5 22
M10X1.5

WWW.HITOP-PMA.COM 26.03 E



